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COMMONS DEBATES

May 2, 1966

Questions

S8alI
._w>vMH sosodin g G961
00S ‘92 POOLECT = e Ajunop pue[requIn) ey UOIBIJSUOWIA(] 98910, 10} puv] umol) jo juewdo[oss(q Iequiajdeg 91072
SBAIY
[eAd(T SBOIR [BINI SWIOOUT MO] Go6T
00S‘G9 3710 1§ R o R §O131[800"] POJIS[e] ey PojeuBisop ur 88918 oruord pus spunoi3duweo jo Jueurdo[eAd(] ounf  ¥10%3
§913UN0)) L1ysnpur £119qen|q BIJ09g BAON 943} Aq GO6T
00002 000402 puBIaquWN)) pus y3noIogsAny) qa PaIdjunodud swaqoid uorjonpoid jo JOqUINU B YoIBISOI O, OB 1208
9SN pus[ 03 pYB[aI S961
000 ‘ST 157 ) e A 813008 BAON WIOYION q4a uorjonpoid J003SAAI] JO AJI[IISE} OIWIOUOOd Y} APNIs O, Y2IBIY 2908
F961
092 ‘8T DOQEIE T 3 o R Ayunop pug[raquny MBE e G ‘B 0I0q81req 9Y3 Jo uoreNIqeyoy Ame 9908
$ $
uoInqLIuo) 180D £91A130% JO £103938)) uorydrIosa (g peaoiddy  oN
[810pa L 18101, BOIB [BISUSY) LBEINE: ¢

€961 ‘8 [1Idy 90uls A}uUN0d puB[IqWINY) 9YJ Ul VYV I9pun poaoidde sjoefor g



